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Instructions -

1.

First 15 minutes are allotted for the candidates to read the
question paper. All questions are compulsory.

All guestion paper is divided into five section. Section-A is of
multiple choice questions and each questions carries 1 mark.
Section-B is of very short type question and each questions
carries 1 mark section-C is of short type questions this is I-type
and each question carries 2 marks. Section - D is of short type
guestions. This is lI-type and each question carries 3 marks
section-E is of long type questions and each questions carries 5

marks.
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The value of young's Medulus of elasticity for a perfectly
rigid body is.

(a) Zero (b) infinite
(c) 1 (d) 100
Y H WA I v A TR U 39 e W Ed B aren
FUTH 9 IIhATTITRN € — 1
(a:r)\fv (|) v

1
(|) W (=) Vv?

The viscous force acting on a solid ball moving in air with
terminal velocity v is directly proportional to

(a) Vv (b) V
1
(c) Vv (d) v*
0O°C @1 50 UTH 9B 20°C B 50 7H Wl ¥ foremman wran &,
5101 1 919 B — 1

50g of ice of O°C is mixed in 50g water of 20°C the
temperature of the mixture will be.

(a) 10°C (b) O°C
(c) -10°C (d) -35°C
wmﬁﬂzﬁmpamMHﬁsmmaﬁm
A1fio ol E A IRER WA € - 1
(@) P=E (b) P=E

3 2
(c) P=F E (d) P=3 E
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The pressure P of and Ideal gas and its average kinetic
energy per unitvelume are related as:

@) P=5E (b) P=E

(c) P=%E (d) P= g

YA AT 71 v & fpf o aadea el g — 1
T:m.\}ﬁmm:{ T=2r g

(31) R (9) A=

(W) T=2n e (7) T=2n Vo x R

The time-period of a particle executing simple hormonic
motionisthetimeis

(a) T=amn displacement (b) T-z:rc'\j

acceleration dlsplacement
© T=am ﬂdis;IeaIZ:rt:ent @ T = 27 VO x displacement
= B =1 sfSrpan e ? 1
(st)argH - (3) s ¥
() Frafa# (T) X H
The speed of sound is maximumin
(a) air (b) water
(c) vacuum (d) Steel

avs (9) (Section - B)

Tferst ol @1\ 9 g fRifkao ? 1
Write the unit of kinetic Energy and dimension also.
HREN 961 @ AT T HHAFA R ? 1
What do you mean by conservative force ?
T B W Y WA Y ? 1
(3)
P.T.O.
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Difine centre of mass of a system.
TEAN TG0 B 91 G- FATS B T I ISTI R ? 1

What s the effect of gravalational acceleration of the value
of height ?

TATI 71 AT HEI A1 § a1 SRy ? 1

What is difference between escape velocity and orbital
velocity,

AT W T A9 ® ? SeTEv SR guEEY ? 1

What do you mean by overtone ? Give example.
Eus (H) (Section - C)

I &1 o 19x10"" Rea/He § | 39 g/ Al 2
T DI | 2

Young's Modulus of steel is 19x10"" N/m?. Express it in
dyneicmz.

afe gt 39 318 & e g o< &Y < @) RAyaa 9« o
P 2o uv g @ [ # @ gRgd= @ ?ﬂﬁzﬁﬁv‘maﬁ
gl 6.4x10% Frex B s Men g |

If the earth stops rolating own its axis then what will be
change in th value of g at a place in th equatorial plane ?
Assume that the earth is a sphere of radius 6.4x10° mt.

2 Fordl & 919 99 91X BT 919 999 U Forl U AR
v @ forg 3= verfia Fhiforg | 2

Force produced in cooling a wire stretched between two
clamps.

MRS ST T AN 8 2 SIPI T TSI E ? 2

What is Avogadro's Number ? How does it have the same
value for all substances ?

s (§) (Section - D)
C?ﬁfﬂﬁ%ﬁtﬂaﬁmmtﬁr&!m 3

the determine the angle between A and B
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Relation between angular velocity and Linear velocity.

e ) g @ drm wdor o1 30° A A WS v JUiE
T BT 3

Find the coefficient of static friction between two surface if
the angle of friction is 30°.

o1 ol wig g Hifog | 3
State and prove work-energy theorem.
Y-FRer Sune f&a oed & ? syaifiar fafag) 3

What is geostationary satelites ? Give the uses of
geostationary satellites ?

7oA A wew €@ 3.8x105 R, ¥ | orw @fg B
T 59 91et A g2 B TR R uaw o e ® ? g2
1 geEE = 6.1 x 10% fdm. aa G=6.67 x 10"
N-mZ /kg’ 3
The distance of the moon from the earth is 3.8 x 10% km.
Calculate the speed of the moon revolving around the

earth. Mass of the earth =6.1 x 10®*kgand G =6.67x 10™"
N-m?/kg? https://www.upboardonline.com

W T faa e ? 398 g™ 9 29 ¥ fiRa fFf o=
A 1 A= J71 3179 Hrfore | 3

Define stokes Law ? Caiculate the terminal velocity of a
solid sphere which is falling in viscuss liquid.

AR F1 YA faRan | wyaa Wl &1 ard w30 | 3
Write down Mayer's formula. Define uses symbols.

W et 7Y 69 Fed & ? WA snad A S M g3
fofag | 3

(5)
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Define simple Harmonic motion. Find formula of velocity in
S.H.M.

(¥) a9 <= oo woifea 1o 3 s wre A | 3

What is different between free Oscillation and forced
oscillation ?

Gus () (Section-E)

9.6 T HYNEE 9 ¥ ? AR W a1 ange weaeran 1ot 2.0 x

10° N/m? 911 B°1ed 1.0 x 10° R 41 2 8 &) et 3 wafy &Y =y
fraanit ? 5

What is Laplace's correction ? If the bulk modulus of water is

2.0x10° M/m?2 and density 1.0x10° kg/m?® then find the velocity of
sound inwater ?

HAq]

Y T FFe e ¥ ? Rig Hifdrg fad a2 sl arsa & Rew
AR ST adE ?

Define stationery waves ? Prove that in closed organ pipe only
odd harmonics are present ?

w7  faw= angfea @1 ® ? 256 ¥¢W a1 260 W 91 angfea @ aY
W& P Uh G119 HRYT B UX 1.5 AHvE N 999 g fag=a) )

WE1 FI BT | 5
Define beats frequency ? Two tuning forks of frequencies 256 Hz
and 260 Hz are vibrated together. Find the number of beats
formedin 1.5 second.

HAGT
HATIR AT TATIR W T3 -1 =i ST |

Relation between phase difference and path difference for two
particle ? Proveit ?

Physics/XI| (6)
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BRTETE W 39 TN TR ¥ ? DA W TS TG WH B HAR B
forg w3 wnfia Hifre | 5

Define capillarity ? Deduce the formula for height of liquid raised
in a capillary tube of glass.

AdI

IR AT E ? 59 D g B Mo i <1 6 7o HIFAT |

What is meant by the excess pressure ? Find the value of Excess
pressure inside the liquid drop.

ST TR fhd dhgd & ¢ Tafera ferRRae | ) araren) 1 5ol o9
H SIS B TR Tl Bl a9 SITd DT | 5

Define heat transmission ? Write the process of heat
transmission.

HIqT

(@) et s & ¥ ? 39D IMUR W KK &1 Faw
forfag | e & ¥ s 3 e Hif |

What is perfectly black body ? Find stefan's Law and
Newton Law of Cooling ?
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